G 52 525 l(\:/Iu;s\e;ll fygtesmg({glol\tl)l, Mex Xw=96,79,Y,,=100,00,Z,,~111,46 v
o =2,V=1, 2, 5, , Mex = = -
e Mmchromaticity (xy) pua i A — V=2
y 550 ' Aog=(8g=[20,n*a0 a*a0,v]) Y — V=5
WVm — v=1 Bo=(bo~[bo,ri+bo a+bo v]) Y — V=8
2 89 =850 [X/y]
S b = by [2/]
ap0=1, byy= -0,4
RSOR, n = Mex
Q625 ag,y=ay(Y/Y1g-1) ex)
S5e Bo.y=bav(Y/Y15-1) e e
8y=-0,017,b,y=0,012 0,003 -0,002
ap,4=0,000,by A=0,000 —-0,022 0,016
CIE 1931 X Munsell System Y,,=100, Mex
T C=2,V=1,2,5,8 &9, Mex
0,0 0.2 04 0.6 038 1,0 chromatic value (g, Bo)
DEP71-1A DEP71-2A
Xy=96,79,Y,,=100,00 Z,,=111,46 L Xy=96,79,Y,,=100,00 Z,,=111,46 L
X,=0,3140y,,=0,3243 — X,=0,3140y,,=0,3243 —=1
Ar=(ar~[aq n+ay atay y]) Y — V=5 Ax=(ay[ag ntap atan v]) Y — V=5
B1=(by=[by r+by atby v]) Y — V=8 Bo=(bp=[by ity atby v]) Y — V=8
a; = ayg [x1y] ay = ayq [(x—0,17D/y]
by =byo [2/Y] b = byg [z
ax0=1, byp=-0,4 ap0= 1, byo= -0,4
0 Mr1=1,000,br,=0,171
n = Mex n = Mex
ay y=ay(Y/Y1g-1 e: ap y=ay(Y/Y1g-1]
b“_bZYEYNm_lg 0,012 -0,007 & ZYEY/Y18_1; 0,012 -0,007
1,y=b2v(Y/Y1g 0,011 -0,007 b2,y=b2v(YV15 0,011 -0,007
apy=-0,013,b,y=0,008 0,002 -0,001 ayy=—0,013,b,y=0,008 0,002 -0,001
2, 4=0,000,b; =0,000 -0,0170,010 a 4=0,000,b, »=0,000 -0,0170,010
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex C=2,V=1,2,5,8&9, Mex
chromatic value A4, B;) chromatic value (A, B,)
DEP71-3A DEP71-4A
Xy=96,79,Y,,=100,00 Z,,=111,46 L Xy=96,79,Y,,=100,00Z,,=111,46 L
X,=0,3140y,,=0,3243 — %,,=0,3140y,,=0,3243 —p=1
Az=(ag-[ag itag atagyl) Y — V=5 As=(ay~[ag itag ataayl) Y — v=5
B3=(bs—[bs y+b3 a+b3 y]) Y — V=8 B=(b4=[byg n+bs a0y v]) Y — V=8
a3 = ag [(x-0,172/y] 8y = a0 [(x-0,1791y]
b3 = byo [2/Y] b4=byo [(Mpyx+bp1)/Y]
ax0=1, byo=-04 ap0=1, byy= -0,4
=1,000,b,=0,171 P =-0,169,bp,=0,389 5
nmleex ore [ @ nmp=1Mex o
ag y=agy(Y/Y1g-1 { ex =agy(Y/Y1g~1 Mex
b3'Y_b2YEYN13_1; 0,012 -0,007 3‘”_ ZYEY/Ym_l; 0,012 -0,007
3,v=bay(Y/Y1g 0,011 -0,007 2.y =Doy(Y1¥1g O no
a,y=-0,013,0,,=0,008 0,002 -0,001 ayy=-0,013,b,y=0,008 0,002 -0,001
ag x=0,000,b3 x=0,000 0,017 0,010 a,,4=0,000,b4 5=0,000 ~0,0170,010
Munsell System Y,,=100, Mex Munsell System Y,,=100, Mex
C=2,V=1,2,5,8&9, Mex C=2,V=1,2,5,8&9, Mex
chromatic value (Ag, B3) chromatic value (A4, By)
DEP71-5A DEP71-6A
Xy=96,79,Y,,=100,00 Z,,=111,46 L Xy=96,79,Y,,=100,00Z,,=111,46 L
X,=0,3140y,,=0,3243 — X,=0,3140y,,=0,3243 =
B gD ¥ TVE | o v =3
5=(D5 =[5, y+05 A+D5 — V=8 6=(Ds=[Dg,n*0p A+Dg,y. — V=8
ag=ay,[(0,861x-0,719-0,026)4] 8g=ap,{X1y]
b5=b,,{(0,19%+0,386/-0,240)§] bg=byy [(Mp1x+0py)/y]
ay,=1,00,b,,=1,00 a5,=1,00,b,,=-0,40
}‘B.G,Y,R:475l503l574l494cvE n mp;=—0,974,bp;=0,658
n = Mex n = Mex
=agy(Y/Y1g~1 ex =aoy(Y/Y1g~1,
ZS'Y_bZYEYNm_lg 0,003 —0,002 B6,v= ZYEY/Ym_l; 0,015 —0,005
5, v=Day(Y/Y1g 0,003 -0.002 b6, y=bav(Y/Y1g 0,014 -0.005
a,y=—0,003,b,y=0,002 0.000 -0.000 apy=-0,016,b,y=0,006 0,003 -0,001
a5 x=0,000,b5 x=0,000 0,005 0,003 a,4=0,000,b5 4=0,000 ~0,0210,008

Munsell System Y,,=100, Mex
C=2,Vv=1,2,5,8&9, Mex
chromatic value (As, Bs)

Munsell System Y,,=100, Mex
C=2,Vv=1,2,5,8&9, Mex
chromatic value (Ag, Bg)

DEP71-7A

DEP71-8A

DEP71-7N




